& % y7x O G47F obd 2L TEW?

g H o] do]7t xem ¢ HFER O] F29] 4ol y em
Al 40km 2 x AIZF 52t o] 57t AP ykm
1070l x A1 AF 17]2] 744 y &

AAgx o vy

® 717 1000099 B719] 1% T4 y &

® © © ©



e,
_>|‘l_'.
it

S~
T

v
m

1) = ~2x+ L 1A fla) = ~4 L 1), a ©] Q& Fopofer,



® 9

@ 6



[e]
A&

d

9] o] of

=

x+2y-3=0 9 1

® (1,2)

TN TN
M — |
S«
N~ —

Q@ ©

@ (-1,2)
@ (5,-1)



® y=5x+10

@ y=-5x-10

O y=2x+10

-5x + 10

@y

@ y=>5x-10



6. TS 2™ 3 2 AABC ¢ ADEF 7} &5< of,
o] 2715 Fstoizt

D

E o] Zelet /D






® 3 (1, 5)& Adrh

sttt

%

R

mo}

® y=2x-19 17

® A1, 3, 4 AHEAE At



® 2 @ 3 ® 6

@ 0



29 Jei s Zo)7t 30em ?] xof B yA
B3 F AAg ARt wheh g2 29] Zo] f‘;;’]
2 1pehd Zolo}, B ol 3A7H 302 Gm)
o] 29 dol=? 301
201
10t
Ol 123456
NzHZ)
25 27 29
© gcm @ gcm ® S om
@ = cm ® =—cm



11. ofef 277 Z-& AABC 9|4 AB = BD = DC |2 /DCB = 37° &
o, zx & 27|15 5ot

Z 37°

=
Q



12, o3 287 o] ¢ =90°2 27473 ABCOlA AB =109 o],
AABC 9] £13919] Hol?

@ 187 @ 257 ® 367 @ 497 ® 637



13. o2 O"ollA H 1+ AABC 9] YHelx, DE//BC ¢ o, /BDI +
(CEI=( )° 9] 3t& otofet.







@ 6 ® 8 @ 10 ® 12

O 4



sholat,

g7

2 A 2] Hol

L

ok W AE Y 19

10, —=y+6=0
9 T

4, 3y=0, 3x-2=

—4x =




17.

o= 199 7 2C 9] 214
ol 52419l WS O =L 5kaL A O ABA, BC 9] A4l Wi
FAe T2 AL E, F 2tal @HhOE = 5cm € W,0F 9 Zol&
oozt

cm



18. 35 f(x) = ax+ 1904 £(3) = =24 w], 27(-1) + 3£(1) & ZH-2?

® -1 @ 0 ® 2 @ 4 ® 6



19. o= H7]A LA A 2x +y = 6 o dit o= &

BE 1E 7L

Mo

Py
filo

@
[
o
H
rir
>
i
>
S
r
o
=2
i
o
L
I

© A7 A AR Aol

© Fol1 QAP S5 HEHH o] tehyu

et

@
é"
lo
=
_{

rr
Jo
St
=
2
Ko

ORUNGNC) ® 0,6,e
® 0,6,6,6 @® 09,0666
© 0,66,



2 1 1 1 -
20. FAH -Zxy y=2 sxtoy=>59 BH A8 (b)Y W,
a

a+ b2 & Fstefzh



